
Quest ce que le cadeau  B' - ? ( )Quel nombre se trouve dans chaque cadeau?
16 ÷ 4 = 40 ÷ 8 = 88 ÷ 11 =42 ÷ 6 = 70 ÷ 7 = 18 ÷ 9 =80 ÷ 10 = 24 ÷ 12 = 33 ÷ 3 =132 ÷ 12 = 96 ÷ 8 = 50 ÷ 5 =55 ÷ 5 = 36 ÷ 3 = 40 ÷ 8 =16 ÷ = 4 90 ÷ = 10 72 ÷ = 972 ÷ = 12 90 ÷ = 9 70 ÷ = 10121 ÷ = 11 24 ÷ = 4 14 ÷ = 7110 ÷ = 11 88 ÷ = 11 55 ÷ = 590 ÷ = 9 80 ÷ = 8 16 ÷ = 2÷ 6 = 7 ÷ 12 = 2 ÷ 2 = 12÷ 7 = 10 ÷ 5 = 8 ÷ 9 = 8÷ 7 = 2 ÷ 8 = 5 ÷ 6 = 6÷ 7 = 2 ÷ 4 = 4 ÷ 7 = 8÷ 4 = 7 ÷ 4 = 2 ÷ 2 = 12
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Quest ce que le cadeau  B  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
16 ÷ 4 = 4 40 ÷ 8 = 5 88 ÷ 11 = 842 ÷ 6 = 7 70 ÷ 7 = 10 18 ÷ 9 = 280 ÷ 10 = 8 24 ÷ 12 = 2 33 ÷ 3 = 11132 ÷ 12 = 11 96 ÷ 8 = 12 50 ÷ 5 = 1055 ÷ 5 = 11 36 ÷ 3 = 12 40 ÷ 8 = 516 ÷ 4 = 4 90 ÷ 9 = 10 72 ÷ 8 = 972 ÷ 6 = 12 90 ÷ 10 = 9 70 ÷ 7 = 10121 ÷ 11 = 11 24 ÷ 6 = 4 14 ÷ 2 = 7110 ÷ 10 = 11 88 ÷ 8 = 11 55 ÷ 11 = 590 ÷ 10 = 9 80 ÷ 10 = 8 16 ÷ 8 = 242 ÷ 6 = 7 24 ÷ 12 = 2 24 ÷ 2 = 1270 ÷ 7 = 10 40 ÷ 5 = 8 72 ÷ 9 = 814 ÷ 7 = 2 40 ÷ 8 = 5 36 ÷ 6 = 614 ÷ 7 = 2 16 ÷ 4 = 4 56 ÷ 7 = 828 ÷ 4 = 7 8 ÷ 4 = 2 24 ÷ 2 = 12
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